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________________________________________________________________

Summary and Purpose of Document
The document contains a proposal for new entry

________________________________________________________________

ACTION PROPOSED
The meeting is invited to discuss the content of this document

and recommend for validation
References:

   5 - 8  December 2005ntion on International Civil Aviation
In the context of the SRNWP Interoperability project the ECMWF need to

represent in grib2 "hybrid height levels" as opposed to "hybrid levels"

usually (there is no explicit definition) interpreted as

"hybrid sigma levels".

The two vertical coordinate systems can be defined as:

1) "hybrid level" (coded as 105 in code table 4.5)

   p(k) = A(k) + B(k) * sp

(k=1,...,NLevels; sp=surface pressure; p(k)=pressure at level k)

2) "hybrid height level" (no code available)

  z(k) = A(k) + B(k) * orog

(k=1,...,NLevels; orog=orography; z(k)=height in metres at level k)

Due to the fact that the two levels definitions are based on different

fields (orography and surface pressure) and they define coordinates with

different units the Ecmwf need two different codes for them.
The Note 1) in grib 2 is sufficient for this purpose.
Proposal

Add the following code to the code table 4.5
Code        Meaning             Unit       Formula

figure
118   Hybrid height level        -         z(k) = A(k) + B(k) * orog
                                           (k=1,...,NLevels; orog=orography;
                                           z(k)=height in metres at level k)

105   Hybrid level               -          p(k) = A(k) + B(k) * sp
                                            (k=1,...,NLevels;
                                            sp=surface pressure;
                                            p(k)=pressure at level k)
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